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Q-1

f)

9)

h)

)

Attempt the following questions:
Drop table cannot be used to drop a table referenced by a
constraint.

a)Primary key

is preferred method for enforcing Data integrity.
a) Constraint

A

Which of the following makes the transaction permanent in the database?

b) Triggers

b) Local key

c)Composite
key

c) Stored
procedure

d) Foreign key

d) Cursors

attribute need not be physically stored within the database
a)Single valued  b) Derived

a) View b) Commit

Which one of the following is used to define the structure of the relation,

c) Multi valued

c) Rollback

deleting relations and relating schemas?

a)DML

b)DDL

c)query

d) Composite

d) Flashback

d)Relational
schema

An entity set that does not have sufficient attributes to form a primary
key is termed a

a) Strong entity  b) Variant set
If you were collecting and storing information about your music
collection, an album would be considered a(n)

a) Relation b) Entity
Which of the following is used to denote the selection operation in

relation
a) Pi

al algebra?
b) Sigma

c) weak entity

c) Instance

c) Lambda

d)variable set

d) Attribute

d) Omega

(14)

Which join refers to join records from the write table that have no
matching key in the left table are include in the result set:

a) Left outer

join

b) Right outer
join

c) Full outer
join

operator is used for appending two strings.

d) Half outer
join
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K)

)& b) % c) |l d) _
In SQL the spaces at the end of the string are removed by
function.

a) Upper b) String c) Trim d) Lower

Which of the following is not an integrity constraint?

a) Not null b) Positive c) Unique d) Check
‘predicate’

The variables in the triggers are declared using

a) — b) @ c)/ dy/@

In the normal form, a composite attribute is converted to

individual attributes.

a) First b) Second c) Third d) Fourth

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-6

Q-8

a)
b)

a)
b)

Attempt all questions

Define E-R Diagram. Draw an E-R Diagram for Hospital Billing System.

Explain different Components of a DBMS.

Attempt all questions
What is Normalization? Explain 1NF, 2NF, 3NF, BCNF with example.
Discuss various steps of Query processing with diagram.

Attempt all questions
Define Join. Explain all Joins with examples.
What is Functional dependency? Explain all its types with example.

Attempt all questions

Explain following relational algebraic operation (i) Division (ii) inner
join (iii) intersection

Explain three level architecture of DBMS.

Attempt all questions
Explain the ACID properties using suitable example.
Explain Aggregate Functions of SQL with suitable example.

Attempt all questions

Explain Domain Integrity constraints, Entity Integrity constraints
Referential integrity constraints in details.

Explain Generalization, Specialization & Aggregation with an example.

Attempt all questions

Define View. Explain with appropriate example.

Write SQL statements (Query) for following tables:

E1 (eno,ename,age,city,bcode)

E2 (bcode, bname)

1. Display employees’ details whose branch code is between 1 to 5.
2. Find an average age of all employees whose branch code is 3.

3. Retrieve branch information in descending order.

07
07

07
07

07
07

07
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07
07
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a)

b)

c)

d)

e)

f)

9)

h)

)

K)

4. Add new branch in E2 table.
5. Display eno, ename and age of employees whose city is Ahmedabad.
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Attempt any four questions from Q-2 to Q-8

Q-2 oL WALl U 520

a)  O-2UR UM AL 520 SlRY2e (B0 [MzeH HIZ S-2uz M ezl 07

b)  dofluiusiudl (A4 szsl dHmal, 07
Q-3 oL URellell UALA, 531

a)  ARaADRUA 2124 4?2 GeleL U INF, 2NF, 3NF, BCNF 4+l 07

b)  wusld 28 s34 iAo ([Aaa waaiziicdl 221 520 07
Q-4 o1l USellell WAL 531

a) ool ALALLAA 520, GELSRBUL A1, 6L 611812 AHMAL 07

b)  silleHs Aadot 9 697 BELRBL A5 dedl o1l UsIRL UHMAL 07
Q-5 AL Usedledl WAL 531

a)  AlAdL 2AoiHl ollepoultid stall<l (i) [Acol (i) tidlzs ea16l (i) 2idzeded 07

AHMAL

b)  Eloflatmziul 2ol 2zl sufEzsuz aueamal. 07
Q-6 04 ULl UALA, 53

a)  Al9% GelRBlAL BUAlRL 5304 ACID IRIHHL AHMAL. 07

D) 1194 BELSRBL U1 AULPALAL PASER 5L U1l 07
Q-7 AL USeAledl WAL 531

a)  (aodMl s S22l WAL, w22l S[232] waml, delda 07
DU [3AALAL HAE2AL AHMAL

b)  Geigril 1A Bissilsel, [AUUAL, AIMLA5REL AHMAL 07
Q-8 oAl USedledl UALA, 531

a)  dly euvAailid 52U 4194 GELGREL AU, AHMAL 07

b) 1Al 5ipsl HIZ HuRIY 222H2y (592]) @vil: 07

S 1 (2ll, SelH, 94, A6, 61518)

E2 (oilsls, <ln)

1. 5912021 (A01A1 alal sxul AL s1s 1 @l 5 <l a3 9.

2. 6y 591 BUAL QL 518 3 69 du-Al 1212 9% AL,

3. vl Hilgdl Gazdl suul uind 530,

4. ¢ 2 2:Qul 4l vl GHzl.

5.6¢, 2GR HHEIALE €9 ddL 59AIE AL 2, BleellM, i GHR £2ldl.
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